GRADE 5 DIVISION WORKSHEET

Single digit division, with remainder (1-1,000)

Find the quotient with remainder.

11.

13.

15.

17.

19.

389 + 8

304 ~ 6
88 + 6 =
706 + 8

981 + 8

239 + 8

670 + 7

669 + 7

357 + 5

496 + 2

10.

12.

14.

16.

18.

20.

154 7
545 + 5
837 + 9
169 + 3
444 + 4
597 + 4
196 + 8
691 + 2
488 + 7
551 + 2




ANSWER KEY

Single digit division, with remainder (1-1,000)

Find the quotient with remainder.

11.

13.

15.

17.

19.

389 + 8

304 ~ 6
88 + 6 =
706 + 8

981 + 8

239 + 8

670 + 7

669 + 7

357 + 5

496 + 2

48 R5

50 R4

14 R4

88 R2

122 R5

29 R7

95 R5

95 R4

71 R2

248 RO

10.

12.

14.

16.

18.

20.

154 7
545 + 5
837 + 9
169 + 3
444 + 4
597 + 4
196 + 8
691 + 2
488 + 7
551 + 2

22 RO

109 RO

93 RO

56 R1

111 RO

149 R1

24 R4

345 R1

69 R5

275 R1






